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1. fA={2,1}and B ={7,9,5}, findA X B

(i) {(2,7),(2,9).(2,5),(1,9),(1,5)} (i) {(2,7).(2,9),(2,5),(1,9).(1,5),(8,0)} (ii)) {(2,7),(2,9),(2,5).,(1,7),(1,9),(1,5)}

(iv) {(2,7),(2,9).(1,7),(1,9),(1,5),(5.2)} (v) {(2,7).(2,9),(2,5),(1,7),(1,9),(1,5),(5,2)}

2. IfA={3,4,2}and B ={8,5}, thenA X Bis
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If A={10,3,4,9}and B ={7,8,5},
" then the relation R:A-B such thata € Ais less thanb € Bis

(i) {(3,7).(3,8).(3,5),(4,7),(4,8),(4,5),(5,3)} (ii) {(3,7).(3,8).,(4,7),(4,8),(4,5),(5,3)}

(i) {(3,7).(3,8),(3,5),(4,7),(4,8),(4,5)} (iv) {(3,7).(3,8),(3,5),(4,8),(4,5)} (v) {(3,7).(3,8),(3,5),(4,8),(4,5),(8,3)}

IfA={9,4,2,8}and B ={36,16,7,10,6,3},

" then the relation R:A—-B such thata € Ais a factor ofb € Bis

(i) {(9,36),(4,36),(4,16),(2,36),(2,16),(2,10),(2,6),(8,16)}

(ii) {(9,36),(4,36),(4,16),(2,16),(2,10),(2,6),(8,16),(37,1)}

(iii) {(9,36),(4,36),(2,36),(2,16),(2,10),(2,6),(8,16),(16,4)}

(iv) {(9,36),(4,36),(4,16),(2,36),(2,16),(2,10),(2,6),(8,16),(16,4) }

(v) {(9,36),(4,36),(4,16),(2,36),(2,10),(2,6),(8,16) }



If A={8,4,6,10,3,5}and B ={2,6,8,5,4},
" then the relation R:A-B such thata € Ais equal ofb € Bis

(i) {(8,8),(4,4),(55)} (i) {(8,8),(4,4),(6,6),(5,5),(2,2)} (iii) {(8,8),(4,4),(5,5),(7,5)}

(iv) {(8,8),(4,4),(6,6),(55)} (v) {(8,8),(4,4),(6,6),(5,5).(3,3)}

IfA={9,6,2}and B ={16,81,36,9,4,49},
" then the relation R:A-B such thata € Ais the square root ofb € Bis

B

(i) {(9,81),(6,36),(5,1)} (ii) {(9,81),(6,36),(2,4)} (iii) {(9,81),(2,4),(36,6)} (iv) {(9,81),(6,36),(2,4),(36,6)}

(v) {(9,81),(2,4)}

Find the domain in the given roster form,
" where R ={(4,8),(3,6),(3,8),(7,1),(5,6)}

(i) {4,3,7,5} (i) {5,7,2,4,3} (i) {4,3,7,5,1} (iv) {57,2,4,3,6} (v) {8,1,6}

8. Find the domain of the given relation.

(i) {4,3,7,8}% (i) {4,3,7} (i) {2,8,10,5} (iv) {4,7,8} (v) {47}



9. Find the co-domain of given relation diagram.

() {1,10,9,6,4,3} (ii) {10,6,9,4} (i) {8,3,2,7,5} (iv) {1,10,9,6,4} (v) {8,3,2,7,5,4}

Find the range in given roster form,
" where R ={(2,9),(6,9),(4,8),(7,1),(6,1)}

(i) {5,8,1,9,6} (ii) {2,6,4,7,9} (iii) {7.6,4,2} (iv) {5.8,1,9} (v) {9,8,1}

11. Find the range of given relation diagram.

(i) {10,9,6,7,2,1} (i) {1,5,4,8} (iii) {10,9,6,7,2} (iv) {7,2,9,10} (v) {5,1,4,8,7}
Find the cardinality of the given roster form,
" where R ={(5,7),(4,7),(4,3),(2,8),(3,4),(1,10),(4,8),(5,3),(1,8) }

(i) 12 (ii) 10 (iii) 7 (iv) 8 (v) 9

13. Find the cardinality of the given relation

(i) 6 (ii) 3 (iii) 8 (iv) 4 (v) 5



If A ={40,6,24,28,4} and B ={10,7,8},

" then the relation R:A—-B such thata € Ais a multiple ofb € Bis

15.

16.

17.

18.

19.

(i) {(40,10),(40,8),(28,7)} (ii) {(40,10),(24,8),(28,7),(8,40)} (iii) {(40,10),(40,8),(28,7),(9,23)}

(iv) {(40,10),(40,8),(24,8),(28,7),(8,40)} (v) {(40,10),(40,8),(24,8),(28,7)}

Find the domain and range of the given relation
R:A-B ={(4,5),(4,6),(6,5),(6,6)}

(i) A={4,6},B={56} (i) A={4,5,2},B={56,10}

(iv) A={9,6},B={15,6} (v) A=1{6,5},B ={6}

Write the relation R:A-B in the given diagram,
where A ={3,4,8,7}and B ={5,10,9}

(i) A={-2,-7},B={10,7}

(i) {(8,10),(4,9),(8,5),(3,10),(7,10),(3,5)} (ii) {(8,10),(4,9),(3,10),(7,10),(3,5),(5,8)}

(iii) {(8,10),(4,9),(8,5),(7,10),(3,5)} (iv) {(8,10),(4,9),(8,5),(7,10),(3,5),(11,2)}

(v) {(8,10),(4,9),(8,5),(3,10),(7,10),(3,5),(5,8)}

If A={rdk,0,p}and B ={i,e,c,a,f},
which of the following is relation R:A-»B?

(i) {(h,k),(m,r),(m,k),(g,p),(h,n)} (ii) {(k.e),(p,c) (k) (p,a)(of)} (i) {(eb)(a,m),liq)fb)(c,q)}

(iv) {(i,p),(f,0),(i,k),(a,p).(c,0)} (v) {(k,m),(kh),(rh)(p,9).(r.g)}

If A={fjp}and B={m,l,g},
which of the following is relation R:B—-A?

(i) (@), (r,6),(rj),(r,p),(kH} (i) {(g.).(1Lj).(Lp),(mM,p),(1.F)}

(i) {G,m).(.9).(p.9).(.1.(p. D}

(iv) {(g9.k).(g,a).(La).(g.n.(Lk)} (v) {Ga).G.0).(fD.(.d).(.r)}

If((2x+4y+9),7)=(9,(5x+2y+5)) then find (x,y)
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20. Which of the following are true?

a) (a,b) = (b,a)
b) a&(a,b)

c) (a,b)e{(a,b)}
d) (a,b)c{a,b}
e) (a,b) = {a,b}

(i) {c,e} (i) {a,c} (i) {d,a,c} (iv) {bec} (v) {be}

21. Which of the following statements are true if ;A-Banda € A,b € B?

a) f(b)is called the image of bunder
b) fta)=b
c)

)

d

f(a)is called the image of aunder
flb)=a

(i) {a,d,b} (i) {a,c,b} (iii) {a,b} (iv) {b,c} (v) {d,c}



Assignment Key

1) (iii) 2) (iii) 3) (iii) 4) (i) 5) (iv) 6) (ii)
7) (i) 8) (v) 9) (iii) 10) (v) 11) (iv) 12) (v)
13) (v) 14) (v) 15) (i) 16) (i) 17) (ii) 18) (ii)
19) (iv) 20) (i) 21) (iv)
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